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T.E & SCERT Exam 2023
(CANDIDATE RESPONSE SHEET)

Roll No N
App No
Name
Paper/Subject D.El.Ed(Qdia)
Exam Date 31 May 2023
Exam Slot 2

The questions are based on a short passage. Read the passage below to
answer the questions. Choose the correct answer from the 4 listed choices.

The U.S. always was large in terms of area, but its population was small, only 4
million in 1790. Population growth was rapid, reaching 316 million in 2013.
Economic growth in terms of overall GDP was even faster. However the
nation's military strength was quite limited in peacetime before 1940. The
expansion of slavery was increasingly controversial and fueled political and
constitutional battles, which were resolved by compromises. Slavery was
abolished in all states north of the Mason—Dixon line by 1804, but the South
continued to profit off the institution, producing high-value cotton exports to
feed increasing high demand in Europe.

The 1860 presidential election of Republican Abraham Lincoln was on a
platform of ending the expansion of slavery and putting it on a path to
extinction. Seven cotton-based deep South slave states seceded and later
founded the Confederacy months before Lincoln's inauguration. No nation
ever recognized the Confederacy, but it opened the war by attacking Fort
Sumter in 1861. A surge of nationalist outrage in the North fueled a long,
intense American Civil War (1861-1865). It was fought largely in the South as
the overwhelming material and manpower advantages of the North proved
decisive in a long war.

The war's result was restoration of the Union, the impoverishment of the
South, and the abolition of slavery. The national government emerged much
stronger, and because of the Fourteenth Amendment, it gained the explicit
duty to protect individual rights.

Passage:

Question ID:5011

Topic Name:SECTION-I English Language

Question: Which of the following was the result of the American Civil War?
A Restoration of the Union

B The impoverishment of the South

€ Abolition of slavery
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D All of the above Correct Answer

Answer Given By Candidate:D

Question ID:5012
Topic Name:SECTION-I English Language

Question: \Whjch of the following is correct according to the passage?

A Population of US was very large in 1790.
B US's military strength was very large in peacetime before 1940.
C Presidential election of Abraham Lincoln was for ending the expansion of slavery. Correct Answer

D Slavery was abolished in all states of US by 1804.

Answer Given By Candidate:C

Question 1D:5013
Topic Name:SECTION-I English Language

Question: \Which of the following played important roles.in the American Civil War?

A A surge of nationalist outrage in the North as well as material and manpower advantages
of the North Correct Answer

B The overwhelming material and manpower advantages of the South
C A quest for inexpensive land for yeoman farmers and slave owners

D High-value cotton exports to feed increasing high demand in Europe

Answer Given By Candidate: A

Question 1D:5014
Topic Name: SECTION-I English Language

Question: Se|ect the correct synonym of “CRUCIBLE”.
A Gist

B Cruel

€ Severe

D Container Correct Answer

Answer Given By Candidate:Not Attempted

Question ID:5015
Topic Name: SECTION-I English Language
Question: Se|act the correct synonym of “ADIEU”.

A Salute

B Welcome

C Portray

‘
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D Goodbye Correct Answer

Answer Given By Candidate:Not Attempted

Question ID:5016
Topic Name: SECTION-I English Language
Question: Find the antonym for the word: Swift

A Express
B Steep
C Slow Correct Answer
D Ready

Answer Given By Candidate:Not Attempted

Question 1D:5017

Topic Name: SECTION-I English Language

Question: Ga|act the correct meaning of the idiom, “Call it a day”.
A Stop doing something, especially working Gorrect Answer
B Happily continue working

C Disguised as

D Broadly

Answer Given By Candidate:Not Attempted

Question ID:5018
Topic Name:SECTION-I English Language

Question: choose the correct meaning of the idiom “Break a leg”.
A Speedy recovery

B Good luck

C Enjoy the weather

D Do something bad or cheap

Answer Given By Candidate:Not Attempted

Question ID:5019
Topic Name: SECTION-I English Language

Question: £51 in the blank with the correct option.

India is largest producer of pulses in the world.
A the Correct Answer
B a
€ an
D

No article required
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Answer Given By Candidate:A

Question ID:50110
Topic Name:SECTION-I English Language

Question: |hsert the correct preposition in the blank given:
Mom always keeps her wallet __ the drawer.

A off

B after

C away

D in Correct Answer
Answer Given By Candidate:D

Question 1D:50111
Topic Name:SECTION-I Education and General Awareness

Question: \Who was the Chairman of National Steering Commiittee for the
Development of National Curriculum Framewaork in 20217

2021 6Q QIS4G AIOYFE QIRIR TRIE AN AISIA TACIRG
RETR 2RI &9 2em?

A MK Sridhar
Jeleq g1elo

B K Kasturirangan

6% A9

Correct Answer

€ Najma Akhtar

@@l 2oL
Krishna Bose
19 691%

Answer Given By Candidate:Not Attempted

Question 1D:50112
Topic Name:SECTION-I Education and General Awareness

Question: j3mja Millia Islamia is located in which city?

QT2 TR ALRIT 694 ILN6R 2SS ?

A Chandigarh
04og

Aligarh
ARG

C Delhi Correct Answer

WtsApp/Call- 8596976190



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Join Us-

‘

BPEIQ AA8 GF QA g4 Q9 AN

Download “Tech Of World” App

D Kota
619

Answer Given By Candidate:Not Attempted

Question ID:50113
Topic Name:SECTION-I Education and General Awareness
Question: What is the movement of water molecules from a solution

with a high concentration of water molecules to a solution
with a lower concentration of water molecules, through a
cell’s partially permeable membrane, called?

W 2 AT iG] 29l §RER Ia 6RNVA al°dia
dIQDIFTY 6E16ELR FIRICIER Wi 2GR ¢ DSl 2Ql
GR61q AR AGYLan 9F @' gRIAN?

A Diffusion

QS

B Plasmolysis

URFIRIQ

C  Osmosis

BL6aIgg

Correct Answer

D Transpiration

QIggee

Answer Given By Candidate:D

Question 1D:50114
Topic Name:SECTION-I Education and General Awareness

Question: A¢ of March 2023, who is the Minister of Education inthe
Central Government?

€T 2023 g8, 698 IoRIoT G Fig1 T4 2Jem?

A Smt. Annapurna Devi

16101 29968l 6991

B Dr. Rajkumar Ranjan Singh
Yol AULFEIR AGE aee
C  Dr. Subhas Sarkar
YL LRIY LTIt
D Shri Dharmendra Pradhan Correct Answer

1519 decig gag

Answer Given By Candidate: DD
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Question ID:50115
Topic Name:SECTION-I Education and General Awareness
Question: The |ndus Water Treaty was mediated by which country or

body?
a9 GF 93 626 696 @Rl 9°Q FIN FRILS!
AUAIRRI?

A China
oo

B United Nations
fne Klegcd

C ysa
USA (EN)

D World Bank
Qg QuIa Correct Answer

Answer Given By Candidate:Not Attempted

Question ID:50116
Topic Name:SECTION-I Reasoning

Question: Statement: Trust me, | have watched the news in channel X.
Assumptions:
Assumption 1: Channel Y gives exact information on the happenings.
Assumption 2 : | am presenting the information as it is broadcasted in the television.

Select the best/correct assumption/s
396: 661166 TGI9 FAG, ] SUEEM X6 HTR 6QHR
QNG
ARG 1: CUSER Y (15¢ElIgee S 20 9oal 69n2IN |
AUASN2 : ] YOG QUL FRE NG YLl 6TRORRER YARG G |

A Only Assumption 1 is implicit

699 ARG 1 2|LEEE 26T
Only Assumption 2 is implicit Y

6Q9R 2ARIING 2 ALTLS 26T

€ Either 1 or 2 is implicit
1 @l 2 2LEEE 266

D Neither 1 or 2 is implicit

1 @9l 2 286580 g6

Answer Given By Candidate:Not Attempted
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Question ID:50117
Topic Name:SECTION-I Reasoning

Question: |n a certain code “BARK” is written as “DCTM”. How is “DATE” written in that code?

99 06Y A6THER "FIE" "DCTM” RINER 6MBIKIN2IN | 698 A6TE6R
68" AU emollANS?

A JKDM
JKDM

B FCVG
FCVG

Correct Answer

C HFTM
HFTM

D URWM
URWM
Answer Given By Candidate:B

Question ID:50118
Topic Name:SECTION-I Reasoning

Question: | 3 code “PASTE” is coded as “SDVWH”. How is “CATCH” coded in that code?

4@ d6@E6R "6dR G "SDVWH! QIS6R 466 @UMIRS | 698 I6mE6R
"AIP" FAR LTS FAUCG?

A HIVCT
HIVCT

B FDWFK Correct Answer
FDWFK

¢ JpTWwaQ
IDTWQ

D JHGFF
JHGFF

Answer Given By Candidate:B

Question I1D:50119
Topic Name:SECTION-I Reasoning

Question: [ ook at this series: 460, 385, 315, 250, 190, __.

What number should come next?
& Gl 69%Ig: 460, 385, 315, 250, 190, .

doeEl 68Q o6l 2189?

A 145
145

‘
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B 135 Correct Answer
135

< 120
120

U115
115

Answer Given By Candidate: A

Question ID:50120
Topic Name:SECTION-I Reasoning

Question: Complete the below series.
LR, 5l
QEmele 68161 Agdl 2ag |

;R 5d
AN Correct Answer
N
B M
M
o
o}
bop
P

Answer Given By Candidate: A

Question ID:50121
Topic Name:SECTION-I Teaching Aptitude

Question: St dents should take part in setting classroom rules and draft them. Which of the
statement regarding classroom rules is correct?

SSRISIA6E 65616E T FRING 69 A°EGLE AR IR QI 96 G A5G |
681619E ROE IARE TGC FRIQ 699G OF?

A Rules should be simple and reasonable.

QA A9R 99° I 6961 Q6T |

Correct Answer

B Rules should be complicated.

QA A0 629 ALK |

C If rules are not followed by a student, entire class should be punished.

A3 69163 8I¢ G UIRE 99T, 6968 g 68615 @@ ARG AL |

‘
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D All of the above.
KRUCND 1D

Answer Given By Candidate: A

Question ID:50122
Topic Name: SECTION-I Teaching Aptitude
Question:
Problem-solving strategies that teachers can demonstrate, model, and teach directly can

include graphic organisers, models, questioning, projects and discovering the patterns.

Hence this:

A AARIG REING AL FRRCIEE IR @QAURN6CT, FI6AR FRAINES 98° AUAR
S8 6QRANCT 69269 PR 26ARD, F168R, I49, dag Y8° [ AR 2SHD
6LINAIER | 604 IL!:

A" Helps Students to focus on process and content. Correct Answer

2eFeg dgil 99° F80Y QU6 2Ie 69919 ALY K6 |

B Creates confusion in students
RLRIGIT (IR 95 I8/ a8

C This is cumbersome and waste of time

Jgl @00 99° 9a9Q SIS
D None of the above

QU6 FRIQ 6RNEAT goL

Answer Given By Candidate: A

Question ID:50123
Topic Name: SECTION-I Teaching Aptitude
Question:, proplem-solving can be taught in any content area and can even combine cross-

curricular concepts to connect learning from all subjects. This helps the students to:

6668 @RASY 6/S6R A1 AellRIE SIFIRAING 99° Lelg QEAR SIS
Q6o K0S SR 99-AI0YFE QGG ] IR0 FAUAIRAAS | 98] RISAIRT
dIgILY K6

A Increase confidence and achievement across all school subjects.

FQURAR AF1D TRACR 27D B APRC QRI

B Analyze the world around them to draw their own conclusions.

3@ Faa 9918 QIeIa 9AQ! IR 69FIeE AU 291 92U Q65,88 FQG |

C Explore innovative solutions and long-term knowledge retention

ARG ARG 99° 1EHRIRNE BIQ UAER Ag4RIe @09

«
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N All of the Above
QaeaIe 9ag Correct Answer

Answer Given By Candidate:D

Question 1D:50124
Topic Name:SECTION-I Teaching Aptitude
Question: \What is the role of feedback in the teaching-learning process?

JRISIG- 8¢ GFAN6R ASIFISR RERI G412

A To maintain teacher authority and control.

SAQE 2RI B YA YWI QGS |

B To enforce punitive measures for student mistakes.

SBIEBILTE iml AR @EG1A 9968 P28 94! |

€ To provide guidance and support for student improvement. Correct Answer

LRIV A6 U Fldleds 6 9RASIYSIe S

D' To restrict student autonomy and creativity.

SILGRIEE1 99° RAHIR6IE AR |

Answer Given By Candidate:C

Question ID:50125
Topic Name: SECTION-I Teaching Aptitude

Question: Differentiated Instruction works very well for the diverse group of learners. It

depends on four elements namely:

Qg 69 a8 AaIRhfee o S5 60IF IR 996 Om WA [y K62 | 9G|
Sl6QUT AL ALER FEAR FER Lell;

A Content, preduct, process and learning environment

UIEY, QAIQ, T 99° F8E aR69E RSO
B Collaboration, procedures, process and learning environment
QL6LIgl, 9T, Il 98° SR8 A6
C

Conduct, product, progress and learning environment

21994, QEIL, 61T 49° FNE A56S4

D Communication, product, process and learning environment
66D, QIQ, dTAU I9° Y8 AAEIS

Answer Given By Candidate:B

Question ID:50126
Topic Name:SECTION-I Teaching Aptitude

‘
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Question: o, dent-teacher relationships are important in the short term because it

creates a thriving classroom environment and helps students develop:
-5 ase 49 QM6 61@@%@ @96l YLl Iq LE)S 656119 A6
8 K69 99° RSN RF6 K160 Il K6k

A Physical health
sINQ Iy
B Positive relationships which may decrease behavioral problems.
dalouga ae1e QIR 2SS ge1elg L€ KQEIe | Correet. Answer

C OQOver confidence leading to decline in studies.
deyea ?Jl?lﬁ’é]l‘é] GE]f%iE]IOE]@I L4 dimelig |

D Negative attitudes, leading to unhealthy gossip.
@RIol]a f16R1WlQ, 2YILYN0 olddd Qﬁ‘ QoI |

Answer Given By Candidate:B

Question 1D:50127
Topic Name:SECTION-I Teaching Aptitude

Question: Children who experience holistic development during their school years grow up to
become global citizens. As important as it is to learn Math and English, it is equally
necessary that kids in school get a proper education in the arts and are taken on

field trips. Such experiences enhance:

649 dmIFIce FRUIRALCIAER IFIgn RIS AGES K98 69667 99 681N T4
QOIS 228 | G868 KR FYSI 6987 FQaYd, 699G KA 651 IMER
ARIFIEE SRI6R AAYD 8l NIV K9G Ye° TR G 6R FALS | I9F 2AFHG
98 dlpel:

A Collaborative skills

deeiol QAL

Experiential learning-not only hands on but minds on too

2GRCIRT G9l- 699R LI° §68, 18 QU6 F1al

€ Values are set with growth mindset

RS Cledas] 996 M6 G AU

D All of the above
LUACAD L1

Correct Answer

Answer Given By Candidate:D

Question ID:50128
Topic Name:SECTION-I Teaching Aptitude

«
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Question: gehgo| is a formal institution that imparts education. Informal institutions educate:
QQUIRG IR AIgWTR AW AIgl S IR K6 | A6RIUSING AGWIYLR SI86
RS

A Children in a traditional way with fixed mindset.

g FIeAae! 2JS1 ARICNEE UIRSIRG AUA6D |

Individual in developing a range of capacities at different levels in life.
RSFR TOF INEQ TG VG| TRFC AR YD |

Children through a time-bound courses.

4G EI9QS dIOYFel CIRIFER ARICIES |

Children in developing conflicts and frustration.

ARIFIEE L°ad 9Q° FAUGIER NES €2S |

Correct Answer

Answer Given By Candidate:B

Question 1D:50129
Topic Name:SECTION-I Teaching Aptitude
Question:

Students differ in their grasping, memory, concentration, ability to learn and write and
show varied interests in various subjects. Teacher should focus and balance:

RASRASINGTR 9EICISN, IE)P9, IRIFG], 1511 B 6N Q/EG] I9° T0G TVACR
@9 Q9 2APe 69NN | SR g GAP I9° AGRT [VG:

A On her content delivery which is S.M.A.R.T
Gl FUALY IO QU6R AIL] 9. 9¢1.9.2INF 26T

The needs of the children by giving differentiated support.
Q9 9 gc12lg 69m IRl 21NN |

The multiple intelligences of the students.

RLFIRHA YGRS §FEIS! |

D All of the above.
QA6 L1 |

Correct Answer
Answer Given By Candidate;:D

Question 1D:50130
Topic Name:SECTION-I Teaching Aptitude

Question: |nterpersonal Skills are very important which primarily helps in:

218D Q6! 2648 JR|gd Q1L (6168 926a AIILY 6K

A Building Relationships
aeta IL6SIRQ!

‘
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B Conflict Resolution

QQlIe geRlie

C Teamwork and Collaboration

QRGIC K1y 9e° gageqlg

D All of the Above
WUENR 1D Correct Answer

Answer Given By Candidate:D

Question ID:50131
Topic Name:SECTION-1I Odia Language

Queston: 211 QUAIER(BE2 RUVIER ) IS8 6266 TR
99 gORS 6QEIaN ?

A ARl
b 2RI
€ QIRGRIA  Comrect Answer
> AIFIRIR

Answer Given By Candidate:C

Question 1D:50132
Topic Name:SECTION-II Odia Language

—_

Qe JoR QIR N0 Ga?
A galim Correct Whswer
S 1=

< delw

> FelQ

i G By Cartisi

Question 1D:50133
Topic Name:SECTION-II Odia Language

Question: QRN KRG | 6Q6INA EMINA AVIER FUSLS
LR cleg 696l 6l Q 2l @'6l GRILN ?

A eRIe €e
B QN S1€  Correct Answer
¢ 6Q4 49
P 6Qdl e
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Answer Given By Candidate:C

Question ID:50134
Topic Name:SECTION-I1 Odia Language

QI oSG El SRT66 699 a9 O QUSLIQ 6LINE ?
A 2]@ Correct Answer

B Qﬂ

c g

D @9

Answer Given By Candidate:A
Question ID:50135

Topic Name: SECTION-II Odia Language

PQAe-ge-A=_ 7699 99 FRIQ 684 498 gaugie AR
QAYS 2166 ?

* @Qe

b QQe

¢ Q6]I9 Corfict Answi)

b Q601D

Answer Given By Candidate:Not Attempted

Question ID:50136
Topic Name:SECTION-II Odia Language
Question:

‘9820968 699 26Q QUL 62IR AIRG ?
A Rengl

B Qaoue T —

Qg

P 2QUE

Answer Given By Candidate:B

Question 1D:50137
Topic Name:SECTION-II Odia Language
Question:

eraa QMG 645 ATERER TR AT YAIYINER F6TIB FRIQ
6QQG 629 ?

A AR A AR
* 888 aoual
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¢ gﬁﬂ ﬁgﬂ Correct Answer
P AIRq areeeal
Answer Given By Candidate:C

Question ID:50138
Topic Name:SECTION-1I Odia Language
Question:

ARG 9aQ 640,121 REQ CIT] AAS | RUIINER FT6YD FRIQ 689G
6RGITIR RS ?

A Q4 §§8"§ Correct Answer
B eQemall

¢ Qo 69IRSG

P gelfel @O

Answer Given By Candidate:D

Question ID:50139
Topic Name:SECTION-1I Odia Language
Question:

9 Iy Q5Q1 961 a86R | JRUYINED F6LID FRIQ 6946 6RASIAIR
e ?

roQlalg 9ol

P odif Role

¢ Q08I0 SRR
D RAICNRT

Answer Given By Candidate:C
Question ID:50140

Topic Name:SECTION-II Odia Language

Question: “ CHIGAIR” 6@l a 265 ?

A ol Correct Answer
¥ adena

C

e
D AoRa

Answer Given By Candidate:Not Attempted

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Join Us-

BPEIQ AA8 GF QA g4 Q9 AN

Download “Tech Of World” App

Question ID:50141
Topic -‘.\Jafne:SE(.‘Tl()N-ll (_)dia Language
QUetion: “0ee”" 6a6 gRIa €1 ?
A oo
’ 6aee
C bt

6Q68R

R ﬂ@@@@ﬂ Correct Answer

Answer Given By Candidate:Not Attempted

Question ID:50142
Topic Name:SECTION-II Odia Language

Question: « 0" 6@El IRIQ 6@ ?

AN

B o8eean
C @@ Correct Answer

D

L6l

Answer Given By Candidate:C

Question ID:50143

Topiec Name:SECTION-I1 Odia Language

Question: o] AFIRER G ALRE] ‘el 007 6adQesIe ?

A JeRIeR Correct Answer
P Qoo

€ MNBQeR

D QIRIPR

Answer Given By Candidate:B
Question ID:50144

Topic Name:SECTION-II Odia Language

Question’ 80 AAIREA QA TN | AR’ TRT 6RE QEEIM ?

A

QAR
B Qe
C I Tala [a's) Correct Answer

P QiaQiea
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Answer Given By Candidate:C
Question ID:50145
Topic Name: SECTION-II Odia Language
Question: =
Q@Y N6 6RO oJe™ QeI ?
A ge
B —
&
C —
Q@ Correct Answer
D
gQle

Answer Given By Candidate:A

Question ID:50191
Topic Name:SECTION-I1 Mathematics

Question: Czlculate the profit%, if the cost price is 30% of selling price.

A% ¢I6 gAY TG FIRYR 30% 269 6669 MIR% TS KA

A 70%
70%

B 42.85%
42.85%

C  200%
200%

D 233.33%

233.33% Correct Answer
Answer Given By Candidate: A
Question 1D:50192

Topie Name:SECTION-1I Mathematics

Quiestion: paiu paid Rs 10240 as interest on a loan he took for 8 years, at 8% rate of

simple interest. What was the principal?

Qg 8 9d AN 69R2S1 REQ Lo FIFGER 8% AR Yol YINER 10240 T
6d0 @QRIEM | MR 6R6E 2ImI?

A Rs 16000

Rs 16000 Correct Answer

B Rs 15000
Rs 15000

C Rs 10000
Rs 10000

D Rs 12500
Rs 12500

Answer Given By Candidate: A

‘
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Question ID:50193
Topic Name:SECTION-IT Mathematics

Question: Ram deposited Rs.2000 in an account at 4% compounded annually for 2 years.
He then withdrew the amount at the end of the two years and deposited in
another bank at the rate of 6% compounded annually for 4 years. Calculate the
approximate balance amount in the second account after 4 years.

QU 2 QF adis QIEG 4% LAIER IR ARNALER 20 T K¢l *Q2J6M |
9QId6R 69 9@ 9F 66969 6@l A0IR QY I8 QUIR6a 4 od adug Qifie
6% QIRER Nl ARR6m | 4 9F U6Q §019 FNALER AIGTR QRIS
dAeEl SRl @A |

A Rs. 2275
Rs. 2275
B Rs. 2701
Rs. 2701
C Rs. 2163
Rs. 2163

D Rs.2731  (Correct Answer
Rs. 2731

Answer Given By Candidate:Not Attempted

Question ID:50194
Topic Name:SECTION-1I Mathematics

Question: Find the HCF of 1241 and 8979.
1241 9Q° 8979 QU HCHERIQ @G|

X a8
48

B /A%
73

Correct Answer

€ 89
89

D 70
70

Answer Given By Candidate:B

Question ID:50195
Topic Name:SECTION-II Mathematics

Question: |f 360 s divided among A, B, C and D such that the ratiois2:3:4:3; how
much does C get?

€9 360 § A, B, C 99° D FRIEQ 0@ QUL 6669 QAT 2:3:4:3; C
6@6% dlimeN?

‘
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A 360
360

B 90
90

C 60
60

D 120
120

Correct Answer
Answer Given By Candidate:D

Question 1D:50196
Topic Name:SECTION-II Mathematics

Question: The |ength of a ribbon was originally 60 cm. It was reduced in the ratio 5 : 3.

What is its length now?

651N QRGN MEL IS8 60 cm M 1 ILIG 5 : 3 AGAICER LI
FAUARR | FELNE TN ML G612

A 12cms

12 cms

B 34 cms
34 cms

C 36cms
36cms Correct Answer

D 48 cms
48 cms

Answer Given By Candidate:Not Attempted
Question ID:50197

Topic Name:SECTION-II Mathematics
Question: In a triangle, the line segment joining a vertex to the midpoint of the opposite side is:

6olgNd Q@QGS\, YAG ﬂl'gjﬂ ﬂ"d@@ﬁ@ q '5]1@@%‘_@_ GE]I@ZJQI Qs 6aslisia
6RR&:
A Altitude

L2

B Median Correct Answer

c1Eel

C Inradius

QUIEIS FRIGR

D Circumradius

A6RG FRIER

Answer Given By Candidate:A

Question ID:50198
Topic Name:SECTION-II Mathematics

‘
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Question: A rectangle with a length of 8 units and a width of 3 units has an area of:
8 @@‘8‘ 646y 9Q° 3 @@‘6‘ dgl Q9 9@ 206 6ALPRA 6ASTPR Sgme]e
aeq":

A 11 square units
11 Qolglm 9%
B 15 square units

15 Qolg)R 909

C 24 square units

24 QOiEIR HEQ

Correct Answer

D 32 square units
32 QollR 9T

Answer Given By Candidate:C

Question ID:50199
Topic Name: SECTION-II Mathematics

Question: Which one of the following is NOT a type of angle?
FARGS FIQ 6965 98 IRIN 6R1 §6L?

A Acute

Qg6IE]

B Obtuse
L2me@Id]

C Parallel Correct Answer
dlflsae

D Right
e16RIEl

Answer Given By Candidate:C

Question ID:501100

Topic Name:SECTION-II Mathematics
Question: Which of the following is the solution of the equation 2x-5=7?

FYme CRIQ 69T 2x - 5 = 7 ARSI AERIIG 2165'?

A
Correct Answer
B 4
4

¢ 4
-1

D 65
6.5

Answer Given By Candidate:A

‘
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Question ID:501101
Topic Name:SECTION-1I Mathematics

Question: |f v 4+ 2y = 5 and 3x - y = 1, what is the value of x and y?
QG x+2y=599° 3x-y=1, 6069 x 949° y Q MY @'€1?

A X=2,y=1
x:=2.y=1
B x=Lv=2 ' Cgrrect Answer
X=1,y=3
C x=-1l,y=3
x=-1,y=3
D x=3,y=-1
x=3,y=-1

Answer Given By Candidate:B

Question ID:501102
Topic Name: SECTION-1I Mathematics
Question: |n which of the following the first set is a proper subset of the second set?

QOGS FRIQ 62AT6R F2Fl 699 §610 649R I J98 Q069G 26972

A {1,2,3}1,{1,2,3,4}
{1,2,3},41,2,3,4)

Correct Answer

B {1,2,3},{1,2, 3}
{,2,3},11,2, 3}
¢ 1,2,3%,12,3,4}
{1,2,3},12, 3, 4}

D {1,23},143,2,1}
{1,2,3},13,2, %
Answer Given By Candidate: A

Question 1D:501103
Topic Name:SECTION-1I Mathematics

Question:\What is the difference between two sets?

QRG 649 ¢ClI6Q AIZRY @62

A The set of all elements that are in both sets
Ll 649651 2JQl el QIR 649

B The set of all elements that are only in one set

60eR 6615 69969 29 LF1Y LAIFIAR 64

Correct Answer

C The set of all elements that are not in either set

Qe 64969 @Rl L9 QUIWIE9 64T

D The set of all elements that are in either set

Ll 64969 2R Lfl9 QUILIF 64F

Answer Given By Candidate:Not Attempted

‘
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Question ID:501104
Topic Name:SECTION-IT Mathematics

Question: \What is the value of (V2 + v3)??
(V2 +v3)* Q €)Y 6Q6%7?

A 54+2V6

Correct Answer
5+ 2V6

B 54+v6
5+v6

C 5+6
5+6

D 54+ 2V3
54 2v3

Answer Given By Candidate:A
Question ID:501105
Topic Name:SECTION-1I1 Mathematics
Question: \What js the square of 3x - 4y?
3x - 4y Q QR 6R667?
A Ox% + 16y?
9x? + 16y?
B Ox?- 24xy + 16y?
02 - 24xy + 16y? Correct Answer
C 9x2- 24xy - 16y2
9x2 - 24xy - 16y?
D 3x2-4y?
3x*-4y?
Answer Given By Candidate:B

Question ID:501106
Topic Name: SECTION-II Social Science

Question: |n the beginning, the early human beings were

dIndee, dIoda AgaaIen 2jem |

A Food producer

Sl QYICERIAN

B Food gatherer and hunters Correct Answer

SIQY 2°PLRIN 9Q° SRl

C Hunters only
SR 6Q9M

D Food gatherers only

olleY 4°PLRIN 6RM
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Answer Given By Candidate:B

Question 1D:501107

Topic Name:SECTION-II Social Science

Question: \Which emperor targeted Somnath Temple at Gujarat to raid and
plunder it?

699 Q€IS JRAUTR 6DIFIFI IRQ AUER SFIA AR RF
Qaem?

A Mahmud Ghazni
AIgQ oIae

Correct Answer

B Rajraj-|
QUG- |

C Muhammad Ghori
Clede 66l

D Rajendra-l

Q6L

Answer Given By Candidate:Not Attempted

Question ID:501108
Topic Name:SECTION-II Social Science

Question: \When was Indian National Congress established?
GIDBIL RIS K°66]d 6069 LTS LlmeIml?

A 1885 Correct Answer
1885

B 1880
1880

C 1857
1857

D 1882
1882

Answer Given By Candidate:A

Question ID:501109

Topic Name:SECTION-II Social Science

Question: \Who s popularly called as the ‘Grand Old Man of India’?
QILIg 'gIa BRI 2 RF2UI' 6Q1R §LIAIN?

A Dadabhai Naoroji
QLN 6N @1

Correct Answer

B Bhagat Singh
Qole d°e

‘
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C Lala Lajpat Rai
miml MU ol

D Bal Gangadhar Tilak
QIR SIGPRIQ TRG

Answer Given By Candidate: A

Question 1D:501110
Topic Name:SECTION-II Social Science
Question: How many Schedules are there in Indian constitution?

RAUNG1A ARMFER 6Q68 AGYDT AER?

A 9
9
B 10
10
G
12 Correct Answer
12
D 11
11

Answer Given By Candidate:C

Question I1D:501111
Topic Name: SECTION-II Social Science

Question: \which of the following is not a feature of Indian Constitution?

FIRYS FRIQ 69AT RINGIR AAMSR 99 6FT 6L?

A Unitarian Federalism

YRR AR

B~ Democratic republic

JEIES ST

Parliamentary form of Government

€°9Y1e dllde QY

Presidential form of Government.

AURAS SIL 6l

Correct Answer

Answer Given By Candidate:D

Question 1D:501112
Topic Name:SECTION-II Social Science

‘
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Question: | \which constitutional amendment in the year 1978, Right to
property was removed from the fundamental rights of Indian
constitution?

1978 £IALQI69 696 ARG A°CERIFER AR 2RANG
QARG ARG 6¢1RS 2RIFINQ LR FRANDRYMI?

A g3

436¢]

44“‘!
440l

Correct Answer

¢ 42nd
42%¢1

45"

4591

Answer Given By Candidate:B

Question ID:501113

Topic ‘Name:SHC'l'l()N-l] Social Science

Question: \Who js the elected head of the Municipal Corporation?
FLINOIR FAFR GAITE oM @9 ?

A Chairman
AR

B Mayor
6ElAQ

Correct Answer

€ Municipality Commissioner
ﬂqﬁ‘ﬁlﬂl@'@ Qdaa
D" Corporator

a6dI6aoQ

Answer Given By Candidate:B
Question 1D:501114
Topic Name:SECTION-II Social Science
estion: . ' g ,
Question: \vhich of the following constitutional amendments deals with
rural and urban local self-governments?

IR FRIQ 69Q AIFRS L°6EIRIT FIENS 9S° ALUHR
SIGA glo-GlIde 986 dAe?

73 and 74"
736¢1 9° 749¢] Correct Answer

‘
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B 71 and 72™
710¢1 949° 726¢1
€ 75t and 761"
75%¢1 9Q° 760¢]
D 70% and 71¢
709¢1 4Q° 716¢]
Answer Given By Candidate: A
Question ID:501115

Topic Name:SECTION-II Social Science
Question: \Which type of farming includes both the growing of crops as well as raising of

livestock?

606l dala 1960 Qe PIMm P18 996 dgaee dIRg 218@@?

A Mixed Farming

fhe 919

Correct Answer

B Intensive Farming

FlLiges o198

C Horticulture

QRUIe Q¥
Apiculture
AgaIR diRe

Answer Given By Candidate:A

Question ID:501116
Topic Name:SECTION-II Social Science

Question: The |acation of a cement industry is mostly based on:

Q@ 6618 79 AR ¢JS1YE8 9Ll QU6 2ARIAG:

A Nearness to a port

I@ QL9 fR9e

B Where demand is high
6960 SI26! 2R

€ Where transportation facilities are available
6920 9R9eR gRl QUG

Availability of raw materials

QHIFIND QUALS!

Correct Answer

Answer Given By Candidate:Not Attempted

‘
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Question ID:501117
Topie Name:SECTION-II Social Science

Question: Nayvagaon and Ankaleshwar oil fields are located in:
Qg8 B ARERER 687 688 FF Y0I6R 2AQFS:

A Karnataka
adioq

B Gujarat

gasue

Correct Answer

Kerala
6am

D' Odisha
B4l

Answer Given By Candidate:Not Attempted

Question ID:501118
Topic Name:SECTION-II Social Science
Question: \A/hich mines in Rajasthan is famous for copper?

QURLIER 699 §I& S AR YN ?
A Jharia
sl
B Birbhum
AR
C . Ratnagiri
agoa
D Khetri
65181

Correct Answer

Answer Given By Candidate:D
Question 1D:501119

Topic Name:SECTION-II Social Science
Question: \Which of the following pairs is correct?

PIMYS 64IE FRIQ 699G OF 2697?

A 180° longitude — Prime Meridian
180° QIEICI — GEJS MRS 9@

WtsApp/Call- 8596976190
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B 0° longitude — Equator
0° QIEIfll - QYQERSI

€ 25.5° North — Tropic of Cancer
25.5° QA9 - RGS 6

0° latitude — Equator
0° 28I°6l - @ﬂQGQ‘ﬁl

Correct Answer

Answer Given By Candidate:D>

Question 1D:501120
Topic Name: SECTION-II Social Science

Question: | ongitude and latitude both:
QIEEN B YISl QG

A run parallel to each other

999 4e IEISAUR RU6S SIMES

B run perpendicular to each other
ga%a g@ mell U6 %\Img Correct Answer

€ run parallel to Equator

QR 696l IAILUR AR IR

D run parallel to Prime Meridian
de]o! PG QEER LElSNUR L6 SImE

Answer Given By Candidate:A

Question 1D:501121
Topic Name:SECTION-II Science

Question: Rate of evaparation with a/an in humidity

2ASSIBR 986 QYIRS LR

A decreases, increase

gig, 98

Correct Answer

B decreases, decrease

e, g4
C increases, increase
38, 98
D None of the above
QUL CRIQ 6TGTT gL

Answer Given By Candidate:Not Attempted

Question 1D:501122
Topic Name:SECTION-II Science
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Question: States of matter:
aQida g6:
A are inter-convertible
2Is8-QUIB oL 26T
B can be changed by changing temperature

QIAIgl IASEE 97 SLRIn IRAIRS

C can be changed by changing pressure
Sl9 0RREE AR FORIN AIRAIRS

D  All of the above Correct Answer
QUEAUD FIAQ <619

Answer Given By Candidate:D

Question ID:501123
Topic Name:SECTION-II Science
Question: Which of the following is NOT water (H;0)?

FIMGE FRIQ 68LT @R (H20) G6L?

A Dryice
g|Glml @oNCP

Correct Answer

B Water vapour

aidia Q1Y
C Steam
QI
D Rain

adl

Answer Given By Candidate: A

Question 1D:501124
Topic Name:SECTION-II Science
Question: Which one of the following reactions is a balanced reaction?
Qomge 9eGal FRIQ 6aRT 98 IgRE ISTA 26o?
A Fe(s) +0,(g) — Fe0,(s)
Fe(s) + 0,(g) — Fe0,(s)
B Fe(s) + 1(s) — Fel,(s)
Fe(s) + I(s) — Fel,(s)

C Fe(s) +I(s) — Fel(s)
Fe(s) + 1(s) — Fel(s)
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D Fe(s) + H,S0,(aq) — FeS0,(aq) + H,(g) Correct Answer
Fe(s) + H,S0,(aq) — FeS0,(aq) + H,(g)

Answer Given By Candidate:Not Attempted

Question ID:501125
Topic Name: SECTION-II Science
Question: Which one of the following is a double displacement reaction?

GRS 9eTa FRIQ 6960 U7 AgRE U5 26572

A heat
CaC03(s) — Ca0(s) + C0O,(g)

CaC03(s) he—afCaO(s) + C0,(g)
B 2Cu(s) + 0,(g) — 2Cu0(s)
2Cu(s) + 0,(g) — 2Cu0(s)
C  AgNO0;(aq) + NaCl(aq) — AgCl 1 +NaN0O;(aq)
Correct Answer

AgNO;(aq) + NaCl(aq) — AgCl L +NaNO;(aq)

D CuS0,(aq) + Fe(s) = FeS0,(aq) + Cu(s)
CuS0,(aq) + Fe(s) —» FeS0,(aq) + Cu(s)

Answer Given By Candidate:C

Question ID:501126
Topic Name:SECTION-II Science
Question: £, o axerted by a spring that gets stretched by length 1.02 mm is due tos

1.02 mm 636l 68 gLITE 92 TREl FIQI JEAUTFE OF FNER §4:

A weak nuclear force
qeR aaclg 99

B gravitational force
arlIeds o

C  electromagnetic force

e Correct Answer
MEMERITYICH o'

D strong nuclear force
AS4IR1 Aoy §1

Answer Given By Candidate:Not Attempted

Question I1D:501127
Topic Name: SECTION-II Science
Question: Hydro power is a source of energy

@f SGUQ 6208 JER 99 Qd

A renewable

QQIRosIedIo

Correct Answer

‘
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B non-renewable

2€l-F 190660

C fossil fuel

@19lg Q@

D limited source

nae ag

Answer Given By Candidate:A

Question ID:501128
Topic Name:SECTION-II Science
Question: A car travelled from point A to point B at an average speed of 50.0 km per

hour and from point B to point A at an average speed of 60.0 km per hour.

The average velocity ﬁavg for the entire journey will be given by

661154 RIQ WG| GF QUAULIR 50.0 km 6LGIER UG A Q TIE B IS°
Q94 B Q 944 A 9dys Q41 98 YINLIR 60.0 km 6LFER B! KRR
g6 QIg! AN ANLARX 696 7, FIA YIF FNAR

A _ __50.0+60.0
Vavg = 2
_ 50.0+60.0
vﬂ vg re 2
B _  2Xx50.0x60.0
avg —  50.0 + 60.0

v
) 2 % 50.0 X 60.0
7 —_————————
Yava = 7500 + 60,0

c 50.0 X 60.0
7 -—
Yava = 50.0 + 60,0

_ 50.0% 60.0
Vgpo= —o————
4. 50.0 + 60.0

Correct Answer

Answer Given By Candidate:Not Attempted

Question ID:501129
Topic Name:SECTION-II Science

uestion: - ;i . i
Q are a special kind of leucoplasts that store proteins in plant cells.

LR 9@ G669 9I09 RL6RYR AT Q@Q 621F69 69ITR
a° =8 et |

A ~
Aleuroplasts Correct Answer

aiemeUY L

‘
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B Amyloplasts
EIIQSHIQI&E[

C Elaioplasts
YRIRGULL

D Chromoplasts
6g16EI AL

Answer Given By Candidate:Not Attempted

Question ID:501130
Topic Name:SECTION-II Science

Question: a5 shrink when kept in solution.

G669 QBlITIEM 6RNVGTR A°gEe 6B |

A hypertonic
QT AWTld

Correct Answer

B hypotonic
wimed IGS'IQEE

C cold
clell

D hot
oIl

Answer Given By Candidate:Not Attempted

Question ID:501131
Topic Name:SECTION-II Science
Question: Wwood is a:

@0 6LQ&:

A Primary Phloem

QIRIAR 62EIaE

B Secondary Xylem
eI IDEme]

Correct Answer

C Cortex

691060

D Primary Xylem
JirRIfa KIREmE

Answer Given By Candidate:Not Attempted

Question ID:501132
Topic Name:SECTION-II Science
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Question: 'cyticle’, the layer covering the epidermis, is absent in
\‘Iﬁ@ﬁﬂ q 621N 29N 9N "IN, 6Q AGALE |
A Stem

@€
B Leaves

dag

C Branches

21
D Roots Correct Answer

¢

Answer Given By Candidate:Not Attempted

Question ID:501133
Topic Name: SECTION-II Science
Question: Gymnosperms are also called 'naked seeded' because

TIASIH @69}“"%]?1@[ ‘a9 fear c1al gLl |
A Ovules have embryo sac
FAUINCR YR AR 28
B Ovules are not enclosed in an ovary

QIR 99 TAUGER ALE §6< Corrgct Answer

C Zygote develops into sporophytes

I96RTR ACATING 60 TFS g9

D Male and female cones are formed

g8 99° ATRI 6N G g9

Answer Given By Candidate:Not Attempted

Question 1D:501134
Topic Name: SECTION-II Science
Question: The name 'Virus' which means venom or poisonous fluid was given by

'@eld AIgia 212 6208 G 91 F9I8 SaR FIoU SRR |

A W.M. Stanley
@EMY.IEL. TR

B D.J. vanowsky

360, RIeaId Correct Answer

C M.W. Beijerinek
Ye1.99qY. 69663609
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D Aristotle
2ERITM

Answer Given By Candidate;Not Attempted

Question ID:501135
Topic Name:SECTION-II Science

Question: gacteria that take up 'Gram stain' are called

6AQ @191€] 'I€1 QIol' JRE KT 6T GLIAN |

A Gram Positive Correct Answer
glic] 9a5R

B Gram Neutral

Qg FEAY

C Gram Negative

glif] 626910R

D Gram Charged
gliel 916

Answer Given By Candidate:Not Attempted
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